Laplace Transforms

y(®) = LY (s)]

Y(s) = LIy(®)]

y(t) Y(s) = f y(t)e™stdt
0
y(t) = e Y = — (>
y@) =" V() = g (5> 0)
)
y(t) = sin(wt) Y(s) = 2t o2
y(t) = cos(wt) Y(s) = -2 _i 2
)
y(t) = e - sin(wt) Y(s) = G—a)? + w?
t (s-a)
y(t) = e - cos(wt) Y(s) = G-a)? +w?
2wWS
y(t) =t sin(wt) Y(s) = 2 ¥ )’
§2 _ o2
y(t) =t cos(wt) Y(s) = G2+ wl)?
y() = uy(t) Y(s) = — (s > 0)
y(t) = 8,(1) Y(s) = e™%
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Laplace Transforms

Rules for Laplace

Rules for Inverse Laplace

Lly®] =1(s)

LY ()] = y(®)

Liw(®)] = W(s)

LTHW(S)] = w(D)

£[2) = seiy1 - y(0)

Lly +w] = L[y] + L[w]

L7UY + W] = L7YY] + L~1[W]

Lla-yl=a- Lly] = a-Y(s)

L7a - Y]=a - L7HY]=a" y(t)

Llug(t) - y(t—a)]l = e"*L[y]

L7He™®Y(s)] = ug(t) - y(t — a)

Lle®y®)] = Y(s—a)

LY (s —a)] = e*y(t)

Convolutions

(f * 9)(©) = jo F(t—u) - g(w)du

LI(f *g)] = LIf]- LIg] = F(s) - G(s)

L7HF(s) - G(s)] = L7H[F]- £L7[G]
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